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{111 #1: Prove theorems about anghes by using the Angle Addition Postulate

Fmel =113° and smel = 113° o814
msABC = 131°. msABC = 131°
Find m22. M2 gl

ms2 = 108°

ms2 = 113°
b.

!
! me2 = 187
=




.2: 2 Solve problems involving equilateral triangles

Find the value of h. e fay]
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i Use the A58 congroencoo oriterion for triangles to sohe problems
FIFFLLE BHISEE BT LSS T 0 RSN BIEEE S R E A w'rlﬂ m wlm "_ W I.J'- e el |
location to the rock R equals 3. 9 m, +ZRAR = <TAB 215110 .3.9m
if sRAR = +TAR, and RA = 4, 5 m. RA = 4.5m
Find the distance RT. JRT dlall 2agl

4. 5m

B 4m




Markis): 5%
Q.4: P2: Classify lines as parallel, perpendicular, or neither

Find the slope of the line. plticall Joa S




0% Fd Detormine the translstion vectoe

Find the veetor that transiates dafl by pif daiall 10y
A{=2,3) to A'(5.4), A'(5. 4] S A(-2,3)
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QG P Use the AAS congruence oriterion for trisngles to prove relationships in geomartric figunes.

Given that 5 ARC =75, DEF using & ABC 25 DEF ol cale 13
angle —angle—side (AAS), find the AAS) peing Ol B Aadesn gl il
measure of BC. HC A =)
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QT Pi: Use rotational symmetry to describe the rotations that carry a figure onto itself

Select the order of symmetry. el s gal
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1.8 P1r Use the 545 congroencoo criterion for triangles B33

What additional information coukd be Ll (e Al ilagmall L
used to prove that A ABC =5 HIK AABC =4 HIK O Ao Kag
using side—angle-side [SA5)7 HSAS) duglyy ol 1y dalona STl
B
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LA=LH

0= K

LH = 2B




% Fir Usa the right triangle congruence theorems to prove relationships in geometric figures

Given that & ABC =/, DEF using & ABC =4 DEF o cds \3

leg —leg (LL} congruence, choose HLL) Sl sl

the correct statement. hagsal blal ail
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AC = DF
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BC = DF

3
=
I

=
e




G 10 P1: ldentiy speclal angle peirs, parailel and shew lines, and transvarsals

Choose a segment parallel to K. JR = aujips dadio dald il
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@11 PF1: Prowve theorems zbout line segments by using properties of ssgmeni congroence

Which property IF‘F"!‘ for the given < Flsuad ",.I-Iq'-lJl u-IF 3 b ks ";.'I
statement, if AB = CD, and CD = EF, i .CD & EF 3.AB & CD gl 13
then .I-‘.E = EP- -AH = E‘r_!

) k,é. kR Auali
Reflexive Property of Congruence

Gl A Ll dla

Symmetric Property of Congruence
bzt ‘.'.'I il Ausid
Transitive Property of Congruence

Aaulical] abdll aas doals

4| Segment Addition Property



Q. 12: Fi: Find the diftance betwesn parellel lines

Find the distance between the parallel ) Cpbaplianall (i Al L
limes x = —2 and x = 3. X=3 jx=-2
1
il
I e e e e e e i e et e e e et e e
i
i 5
b
R A e B L e ey I o oo L i it e e e
—3
iC
7
d




@13 P Prove the Triangle Angle-Sum Theonem #A

Find msQRP. meQRP syl

msQRP = 31°

e R P

(¥

A A O O N A B - O B ) R R R A O O O

m-QRP = 34°

msQRP = 49°

mzQRP = 46°




Q. 14z P Use symmetry to describe the reflections that carry a figure onto fself

Choosa the figurs that has two fines o LN dapla (i (4t A gl SRR Al
of aymmetry.
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Which pair of triangles have snough Sl RS sl phia Sl e £y gt
Iinformation to prove that the triangles ] el bl i i, Ll
are congruent using slde-side-aids T(E58) i gyt
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Find the value of x. X dead 2agl

i x=50
al
x=25
b.
x =100
i

X=75




Q.17: Pl Apply angle relationship theorens to identify parallel lines i e Ll

if 28 = 26, LB =6 s
State the theorem that proves p||y. Pl & Sy ashaa i G K3
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Q 18: P2 Classify lines as parallel, perpendioelsr, or nefther

Markis): 5/5
What ia the slops of a line parallal to lﬂ#ﬂﬂﬂhﬁ'ﬂﬂﬂ"ﬁ“ﬁlh
the line with the equation y = —3x 4+ 47 ty=-3x+ 4
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G 19 P2 Use the Third Angles Theorem of triangle congruence to solve problems

Find the value of x. X dead dagl

52
50° 78
L K
- TS T R e T T T P PR R E N R T R TN PR N RS T T L R N P R T R R T R P R T N E N R TR Y P R T R T N T Y T
|
i Xx= 39
x=725
b
x=13
C
x=26
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Qi P2 Prove theorems sbouwt angles by using properties and theorems of angle congruence

Find ms1 if m£2 = x° and M2 = x° S 13 msl oyl
msd = (x—36)°, JMmLd = (x - 36)1°

mzl = 72"

msl = 145°
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